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Arkusz oceny umiejetnosci jezykowych

Modut zakupy i ustugi

arkusz przeznaczony dla ucznidow szkoty podstawowej

Potacz obrazki z wyrazami.

street market supermarket fast food restaurant

Podkresl wyraz, ktéry nie pasuje do pozostatych.

T-shirt socks
supermarket shopping centre
wear try on

tea coffee

_Uzupetnij dialogi wyrazami ponizej.

like too size
A: What is your shoe ?
Al your T-shirt.
A: Where can | some fruit?
A: These jeans are big.
A: How do | in my jacket?

hat cheese

wear local shop
play onion
cap milk

look buy

B: It's 9.
B: Thanks.

B: At a supeket.

B: You shouiddgmaller ones.
B: Fantastic!
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KONWERSACJA ( kartkawytacznie do dyspozycji nauczyciela)

1. Odpowiedz na pytania nauczyciela.
Uczei nie widzi tych pyta O ilosci zadanych pytaddecyduje nauczyciel uwzdhiajgc
poziom méliwosci ucznia.
Mozna przyp¢é skak oceniania:
2pkt — poprawna odpowiéd
1pkt — odpowietlczsciowo poprawna lub wymagaja pomocy nauczyciela
Opkt — odpowiefiniepoprawna

Nauczyciel zadaje uczniom pytania, na ktoregnpapbowa odpowiedzié:

* Where can | buy....?

* What do we need to make a pizza/cook soup/etc?

« What clothes are you wearing today?

* What is your friend wearing today?

« What colour are you clothes?

* What books/magazines/comics do you like reading?
* What is your favourite book?

* Do you like plying computer games?

* What computer games do you like playing?
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